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Title: TCA Response for IRG Working Set 2015 v4.0 Consolidated Comments (IRG
N2223)RR

Source: TCA

Action: For consideration by the IRG

Date: 2017-10-15

The following is the TCA’s response to the IRG Working Set 2015 Version 4.0
Consolidated Comments:

1. Unifications

Unifiable to i (U+06DCO) as IVD?. K
3*;‘2’ . See (Tt EFiF(zhonghuazihai)) p3541.
Y d
02005 ,1/! <o |be06DCO )(/—\E i‘,%
e F“iE". Rk,
Disagree. No UCV to do this.
[Unifiable to (U +06DF1) as IVD?. K
N ~—r See {H 3= iE(zhonghuazihai)) p.557.
02049 ”f'c: U+06DF1 :/jﬁ > —
=3 B
Disagree. No UCV to do this.
7282 Maybe unifiable to U+7282. This difference (under th T
I'13-2D67 GE-326E rFES T3-D24 J[—Ed K24622 U+83DE.
Disagree.
08 B W B
U+26D19 UCS2003  GKX-104761  T65761 and U+83DE u!ﬁ°52 HB2ODBTA  T23FSF wss S A plece Of
disunified example.
3ED — T
02467 £yf U+73ED ) 95 JI—ﬂ fi_lj: Hj: BJ_I: ﬂ£ IIJJ: Minor stroke difference from U+73ED
e SW NN TS mew oW e
Agree. Unifiable with U+73ED
02553 Hﬁglgl:l” 7550 7558: LEJHJ B Lﬁ? -'E% Jéjl E)HJ;?TEES ll:::fi\:;::;t:(r;g;:t:;ﬂalmand\mml of U+7559. !
4 GO41T4 H‘H‘b< T1-56867 JO4EN KO-573A ¥1.5F5

Disagree. The glyph shapes are different and no UCV to do this.



N —

o 256B3 A~ 2
02944 ﬁﬁ U+236B3 139 % %@ Maybe unifiable to U+236B3

T13-2F5D ucs2003 TF-442C

Disagree. No UCV to do this.

[ 26553 I L L
03383 =R U+26553 1285 ]% . Ifl“ H. Maybe unifiable to U+26553
e KD

1-3045 UCs2003 BT02  Td-3444

Disagree. No UCV to do this.

2: IDSes, radicals

01973 Ny, DS should be =1 = F /7 [E1so
T13-2C60
Agree.
b DS should be =117 =&E—" [Eiso
“f%‘ﬁ /E Ds
T13-2C7C
Agree.
B ~ 1)\ ’ DS should be “H§ Z277F™. [Eiso
£ S s
T13-2C74
Agree.
02448 N7 DS should be “ = F 7. [Eiso
@ b8
T13-2D79
Agree.
I [DS should be “ I E A" [Eiso
v i s
T13-2E24
Agree.
02574 IDS should be “=F /. [E1so
(;) % S DS
T13-2E49

Agree.



02475 THE AN, H
{/}K\:IE 'Would it be more appropriate to change the IDS to (0.0 _—I:. AN j: ?
i Paragraph 4, [RGN1183:
I J-: aE26 [1-1]) If the ideograph can be divided into three parts using 2FF2 (1), where the lefi-
96 & most and right-most components are the same CDC, divide so. (The middle may be
R CDC or SDC in this case.)
8 12 Example:
ﬁg{% — ﬁ‘ %_& (rmhcr\han g%ﬁ)
. y -y
’JH‘] — !__[,J ﬁ 'j (l':uher than Ijﬁ '_\l.f )
Agree, but we think [T is better.
IDS should be [Eiso
02849
@ DS
T13-2F46
Agree.
02731 _ . PR H H
'Would it be more appropriate to change the [DS to ...~ ?
I13-2F28
109 B
< H
5] | 10
Agree.
03082 ﬁﬁ s C
T13-302C
Agree.
?L*. DS should be “= 8™ [Eiso
03125
Ds
(T)
T13-3033
Agree.
03366, IDS  |Change IDS from F23# L to TiZ= L lUTC
T13-3043
Agree.
03380 == IDS  |Change IDS from EF & to ZFE [UTC
3.
T13-3048

Agree.




03438 H % IDS (sthe IDS T AHE or TTH=E? [UTC
T13-304E
Both can be
03528 J]l—‘! IDS  [Change the IDS from [ 18 to [E[155—R UTC
T13-3056
Disagree, the right component is E.
7L( IDS should be “5= 1™, TS should be “97. [Eiso
03763 IDS and
(T T TS
T13-3070
Agree.
J—JZ IDS should be 5 11" uTC,
03765 [Esio
o) ]ﬁl DS
T13-3072
Agree.
03770 A IDS  [Change IDS from ZifTd to T F % T [UTC
5]
T13-3073
Agree.
03854 A l_\_’ DS ;UTC
/)
T13-307A
Agree.
04299 N IDS  |Change IDS from {233 to 05_SiZk uTc
1]
T13-313C

Agree.




05547
@

T13-3139

DS

IDS should be “[CEANIME™.

Eiso

Disagree, we think '

25 is better.

03408 —_) A Indexing Radical | UTC: Change the Radical to #74 B or change the bottom component to be UTC. Eiso
/%\ Radical #130 B per TW conventions
Eiso: The evidence shows T13-304B is the variant form of #§. The radical should be
T13-304B changed to “74 57, TS should be 8"
Agree with Eiso. The radical should be changed to “74 H~
The ;vidmce sﬁn;w’s the earlier form of T13-304C is ES. The radical should be changed | Eiso

03413
4]

Gl

T13-304C

radical, TS, IDS,
font design

to “74 H7. TS should be “§”, IDS should be
updated.

Do not agree to change the radical. And TS should be 9, because " = | should be 5.
Then please see the two new pieces of evidence.

one kind of traditional Chinese Medicine, so the radical should be #130 [A].
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03438 % Indexing Radical | Is the Radical #130 B or #74 F 7 Is the lower-right component Radical #130 | UTC
BY or #74 BT IF£130 Y, they do not follow TW conventions: also, its IDS_
H ﬁ [ A#. does not match lower-right component; there are multiple issues
T13-304E with this particular character

The radical is #130 [A]. TCA will modify the T font as " }| " shape.

3: Glyphs / Fonts, Evidences

02781 |As shown 1n the evidence, the fifth stroke of the upper left component folds back at stroke termination. Should T13- |H
ri i\ Q [2F36 be modified to reflect the actual shape of the font?

T13-2F36 [Evidence:

— R CBLABB

1 H Code chart:
11 16

No change.

fold back. For example,

TR B B 8 M

G0-7327 HB1-C1B1  T1-753C JO-BA2E  K2-5CTE

03326 ~ Conventions The Radical #162 & form does not follow TW conventions: also see U+2CA66, U+2CA6A. and \UTC
» U+2CAGE in Extension E
Al
T13-3055

1a
+ &

Agree. TCA will modify the T font. as "i_" shape,




03598 —f Conventions [The Radical #140 + form does not follow TW conventions UTC
B
T13-3066
No change, the glyph should match the evidence.
03610 —4—f Conventions [The Radical #140 + form does not follow TW conventions UTC
5R
T13-3068
No change, the glyph should match the evidence.
03615 +£J:[ Conventions The Radical #140 * form does not follow TW conventions UTC
T13-306A
No change, the glyph should match the evidence.
036836 %—"—P Conventions [The Radical #140 * form does not follow TW conventions UTC
=
T13-306C
No change, the glyph should match the evidence.
03972] H E Conventions [The upper-left vertical stroke does not follow TW conventions (its bottom should curve to the left) uTC
.
T13-3125
Agree. TCA will modify the T font as this < 3J7] shape
042635 Conventions [The Radical #162 7 form does not follow TW conventions; also see U+2CA66, U+2CABA, and UTC

[U+2CAGE in Extension E

No change, the glyph should match the evidence. @

According to the source of the glyph and use(e.g. 03526~04265-04292 04296~ 04298
are come from the MOE’s Dictionary of Chinese Character Variants (Z{ 5 2 EieF

21 ) ), will maintain the original shape, and won’t follow TW convention.(e.g.
normalized as "7_" shape). But in order to maintain the consistency of the stroke, the

L Y

third stroke of the radical #162 F are made this@' .



http://dict.variants.moe.edu.tw/main.htm
http://dict.variants.moe.edu.tw/main.htm

04292

Conventions

[The Radical #162 3 form does not follow TW conventions; also see U+2CAG6, U+2CABA, and
[U+2CAGE in Extension E

UTC

No change, the glyph should match the evidence. *:

04296 : I_\ Conventions [The Radical #162 7 form does not follow TW conventions; also see U+2CA66, U+2CAGA, and UTC
':[ [U+2CA6E m Extension E
Jany
T13-313B
»
B
No change, the glyph should match the evidence. %L~
04298 : M Conventions [The Radical #162 3 form does not follow TW conventions; also see U+2CA66, U+2CABA, and UTC
Z*E [U+2CAGE in Extension E
T13-313D
r
B
No change, the glyph should match the evidence.
4: Stroke counts and total strokes.
02964 | ' SC | Change SC from 11 10 10 TCA 11
T13-2F64
The TCA’s own SC suggestion.
02970 e SC | Change SC fom 0910 9 TCA 1
= 9
T13-2F66
The TCA’s own SC suggestion.
03007 SC Change SC from 10 t0 9 TCA 10
15

T13-2F75

No change, SC should be 10, TS should be 15.




03366 SC UTC: Change SC from 1 to-1 UTC. Eiso 1
%‘ Eiso: SC should be “-17, TS should be 5™ 5
T13-3043
Agree, and Eiso’s comment is better.
07964 TTI30F64 TS Change TS from NONE to 14 TCA 14
The TCA’s own TS suggestion.
02970 R TS Change TS from 09 to 9 TCA ]
=
T13-2F66
The TCA’s own TS suggestion.
03007 ﬁ TS Change TS from 15 to 14 TCA 15
T13-2F75
TS no need to change, should be 15.
03334 ﬁ TS Change TS from 09 to 9 TCA 9
T13-303C
The TCA’s own TS suggestion.
03367 TS should be “77. Eiso 7
TS
(M T13-3044
Agree.
03391 — TS Change TS from 08 to § TCA g
A
T13-304A
The TCA’s own TS suggestion.
03408 . TS Change TS from 08 to 8 TCA 3
fﬁl‘\
T13-304B

The TCA’s own TS suggestion.




03413 E E TS Change TS from 08 to 8 TCA 8
T13-304C
TS should be 9, because " &, could be 5.
]
03528 _J—Ja TS Change TS from 09 to 9 TCA 9
77777 T13-3036 _ _ _
The TCA’s own TS suggestion.
03533 J@ TS Change TS from 08 to § TCA 8
GHZR10082.04
T13-3058
The TCA’s own TS suggestion.
03542 N 7 TS Change TS from 05 to 5 TCA 5
T13-305A
The TCA’s own TS suggestion.
03543 ﬁ TS Change TS from 08 to 8§ TCA 8
T13-305B
The TCA’s own TS suggestion.
03551 ~ TS Change TS from 07 to 7 TCA 7
= Ej
T13-305E
The TCA’s own TS suggestion.
03553 _ TS Change TS from 07 to 7 TCA 7

%

T13-305F

The TCA’s own TS suggestion.




03554 .,_I' l'_; TS Change TS from 08 to 8 TCA 8
T13-3060
The TCA’s own TS suggestion.
03574 - TS Change TS from 10 10 10.9 UIC 10
1t
T13-3061 S _
Disagree. The stroke counts of ** is 4.
03594 e e TS Change TS from 11 to0 11,10 UTC 11
T13-3063
Disagree. The stroke counts of ** is 4.
03558 -y TS | Change TS from 11 t0 12,11 UTC W)
e
T13-3066
Disagree. The stroke counts of ** is 4.
03610 —f—f- TS Change TS from 11 to 12,11 UTC 12
5K
T1_3—3068
Disagree. The stroke counts of ** is 4.
03615 TS Change TS from 12 to 13,12 UTC. 13
’ '[:EE ) ‘ TCA
T13-3064 N _
13 is the TCA’s own TS suggestion. The stroke counts of ** is 4
03621 e fa TS Change TS from 13 to 13,12 uTcC 13
~
T13-3069
Disagree. The stroke counts of ** is 4.
03636 - TS Change TS from 14 to 15.14 UTC, 15
%E TCA
N
__ Tl_"j-3[_]6C _ _ _




15 is the TCA’s own TS suggestion. The stroke counts of ** is 4.

03654 e TS Change TS from 17 to 17.16 UTC 17
_ T13-306E
Disagree. The stroke counts of ** is 4.
03655 - TS Change TS from 17 to 1716 uTC 17
= g
JIoT
Tl';'-396]3 _ _ _ _ __ _
Disagree. TS should be 17
03672 —F TS Change TS from 19 to 20,19 UTC. 20
% TCA
— T13-306F S —
TS should be 20.  The stroke counts of ** is 4.
EET TS should be 7. Fiso, TCA |7
03777
Disagree, TS should be 8, Radical " % ; in KS count 6
A TS shoul;be 157 Eiso 16
03803 7|€':'
H TS
M T13-3075
Disagree. TS should be 16, Radical " % ; in KS count 6
03951 @ s TS should be “97. Eiso, TCA | 9
M T13-307E
The TCA’s own TS suggestion. Eiso’s comment matches.
TS should be “97. Eiso. TCA | 9
03996 TS
M T13-3127
The TCA’s own TS suggestion. Eiso’s comment matches.
04006 TS Change TS from NONE to 11 UTC, 11
‘]: b * Eiso, TCA
™~
T13-312A

The TCA’s own TS suggestion. The UTC’s and Eiso’s comment matches.




04261 TS UTC: Change TS from 07 to 7.6 UTC, 7

N
Eiso, TCA
Eiso: 7

T13-3130

7 is the TCA’s own TS suggestion. Eiso’s comment matches. The stroke counts of 7
is 4.

04265 ~ T8 UTC: Change TS from 08 to 8.7 UTC. Eiso | 8
A | ! ! Eiso- &
T13-3131
Agree with Eiso.

04277 _} TS Change TS from 07 to 7 TCA 7

==

—

T13-3135

The TCA’s own TS suggestion.

04289 A TS Change TS from 12 to 12,11 UTC 12

Vil

T13-3138

Disagree. The stroke counts of 7_ is 4.

04292 S TS UTC: Change TS from NONE to 14.13 UTC. 14
> Eiso, TCA
!E Eiso: 14

=
=
o]
1
=
[¥5]
=

14 is the TCA’s own TS suggestion. Eiso’s comment matches. The stroke counts of
i is4.

04296 :: TS Change TS from 14 to 14,13 UTC 14

A
—
JUN

T13-313B

Disagree. The stroke counts of 7_ is 4.

04298 0N 'ﬁ TS Change TS from 14 to 14,13 UTC 4

V1

T13-313D

Disagree. The stroke counts of 7_ is 4.



04299 Y TS Change TS from 14 to 14,13 UTC 14

S1=
o

T13-313C

Disagree. The stroke counts of 7_ is 4.

04304 S S TS Change TS from 16 to 16,15 TIC 16

75

T13-313E

Disagree. The stroke counts of 7_ is 4.

E TS should be 67 Eiso, 6
04326 B TS G:ts 07—6 [} counted 3 TCA.G
D T13-313F
Agree.
: TS should be “77. Eiso 7
04633 lﬂﬁi TS
M T13-3143
Agree.
— TS should be “97. Eiso 9
04643 I';ﬂ_:_ s
M T13-3144
Agree.
187 &5 e Total G 15
04924 [ %Z Strotes ts 14—15
5 14 T13-314F
Agree.
187 55 - G 17
04931 "E %B SI;‘E; ts 16—17
7 | 16 masse
Agree.

( End of document)



